BYLAW NO. 05-2024

A BYLAW OF THE TOWN OF ITUNA TO FIX THE RATES TO BE CHARGED FOR THE USE AND CONSUMPTION OF WATER AND TO FIX THE RATES TO BE CHARGED BY WAY OF RENT OR SERVICE CHARGE FOR THE USE OF SEWER

The Council of the Town of Ituna, in the Province of Saskatchewan, enacts as follows:

- 1. This bylaw shall provide incremental increases in rates over the next three years.
- 2. All persons desiring to be supplied with water from the Municipality's water supply system shall make application to the officials of the Municipality. Each application shall be accompanied by the payment of a meter deposit as set forth in Schedule "A" hereto attached.
- 3. The charges to be paid by the water consumer whose water service has been turned on shall be those set out in Schedule "B" appended hereto; provided, however, that the minimum shall be payable in every case whether or not any water is consumed.
- 4. Persons who own or occupy premises drained or that are by bylaw required to be drained into the sewer shall pay for such services a rental rate or service charge in accordance with Schedule "C" appended hereto.
- 5. Accounts for water service and/or sewer service shall cover a period of three (3) successive months, and shall be rendered on or before the first day of the month next following such period. Accounts shall be paid within a period of thirty days from the date on which such accounts are rendered. If an account is not paid within the period of thirty days, the water service may be cut off. When the water service is cut off for failure to pay, it shall not be turned on until all arrears have been paid, together with a fee of Fifty (\$50.00) Dollars to cover the expenses of turning off the water and turning it on again; provided that if it is required to turn on the water service outside the employees' regular working hours, the fee shall be Fifty-five (\$55.00) Dollars for reconnection.
- 6. The Municipality may ration or limit the amount of water furnished to any and/or all consumers should circumstances deem to warrant such action.
- 7. Bylaw No. 04-2024 is hereby repealed.
- 8. The rates, charges, tolls or rents contained in this bylaw shall come into force and take effect on the 1 day of July, 2024 upon approval being issued by the Local Government Committee of the Saskatchewan Municipal Board.

	Rene Dubreuil, Mayor
"SEAL"	
Read three times by unanimous consent and adopted by resolution 229 / 2024 of council at a regular meeting on this the 4 th day of June , 2024.	Angela Fetch Muzyka, Administrator

Angela Fetch Muzyka Administrator

Bylaw 0	5-2024
1	1 Page
	Mayor
	Adm

BYLAW NO. 05-2024

SCHEDULE "A"

WATER METER DEPOSIT RATES:

A.	5/8 inch meter	\$ 150.00
B.	3/4 inch meter	\$ 220.00
C.	1 inch meter	\$ 285.00
D.	1 ½ inch meter	\$ 850.00
E.	2 inch meter	\$1,100.00

BYLAW NO. 05-2024

SCHEDULE "B"

1. MONTHLY WATER RATES FOR 2024:

	DECHIENTIAL
1	RESIDENTIAL

5,000 gallons or less	Minimum	\$28.35
5,001 gallons to 6,000 gallons	\$7.50 per 1000 gallons	or part thereof
6,001 gallons to 8,000 gallons	\$8.00 per 1000 gallons	or part thereof
8,001 gallons and up	\$8.50 per 1000 gallons	or part thereof

ii. MULTI-UNIT RESIDENTIAL & COMMERCIAL

5,000 gallons or less	Minimum	\$28.35
5,001 gallons to 6,000 gallons	\$7.50 per 1000	gallons or part thereof
6,001 gallons to 8,000 gallons	\$8.00 per 1000	gallons or part thereof
8,001 gallons and up	\$8.50 per 1000	gallons or part thereof

2. MONTHLY WATER RATES FOR 2025

i. RESIDENTIAL

11201221111112		
5,000 gallons or less	Minimum	\$31.65
5,001 gallons to 6,000 gallons	\$7.50 per 1000 g	gallons or part thereof
6,001 gallons to 8,000 gallons	\$8.00 per 1000 g	gallons or part thereof
8,001 gallons and up	\$8.50 per 1000 g	gallons or part thereof

ii. MULTI-UNIT RESIDENTIAL & COMMERCIAL

5,000 gallons or less	Minimum	\$31.65
5,001 gallons to 6,000 gallons	\$7.50 per 1000	gallons or part thereof
6,001 gallons to 8,000 gallons	\$8.00 per 1000	gallons or part thereof
8,001 gallons and up	\$8.50 per 1000	gallons or part thereof

3. MONTHLY WATER RATES FOR 2026

i. <u>RESIDENTIAL</u>

Minimum	\$35.00
\$7.50 per 1000 ga	llons or part thereof
\$8.00 per 1000 ga	llons or part thereof
\$8.50 per 1000 ga	llons or part thereof
	\$7.50 per 1000 ga \$8.00 per 1000 ga

ii. MULTI-UNIT RESIDENTIAL & COMMERCIAL

5,000 gallons or less	Minimum	\$35.00
5,001 gallons to 6,000 gallons	\$7.50 per 1000	gallons or part thereof
6,001 gallons to 8,000 gallons	\$8.00 per 1000	gallons or part thereof
8,001 gallons and up	\$8.50 per 1000	gallons or part thereof

2. MONTHLY INFRASTRUCTURE MAINTENANCE FEE:

A flat rate of \$32.50 per month or part thereof on any premises consuming water, whether metered or not, be charged to offset infrastructure maintenance costs.

2. MONTHLY RECYCLING FEE:

A flat rate of \$10.00 per month or part thereof on any premises consuming water, whether metered or not, be charged to offset curbside recycling costs.

Bylaw 05-2024
1 Page
Mayor
Adm

BYLAW NO. 05-2024 SCHEDULE "C"

1. MONTHLY SEWER SERVICE CHARGES FOR 2024:

i. RESIDENTIAL

One-half (1/2) of the water rate as set out in Schedule "B". Minimum monthly billing amount of \$14.20

ii. MULTI-UNIT RESIDENTIAL & COMMERCIAL

One-half (1/2) of the water rate as set out in Schedule "B". Minimum monthly billing amount of \$14.20

2. MONTHLY SEWER SERVICE CHARGES FOR 2025:

i. **RESIDENTIAL**

One-half (1/2) of the water rate as set out in Schedule "B". Minimum monthly billing amount of \$15.85.

ii. MULTI-UNIT RESIDENTIAL & COMMERCIAL

One-half (1/2) of the water rate as set out in Schedule "B". Minimum monthly billing amount of \$15.85

3. MONTHLY SEWER SERVICE CHARGES FOR 2026:

i. **RESIDENTIAL**

One-half (1/2) of the water rate as set out in Schedule "B". Minimum monthly billing amount of \$17.50.

ii. MULTI-UNIT RESIDENTIAL & COMMERCIAL

One-half (1/2) of the water rate as set out in Schedule "B". Minimum monthly billing amount of \$17.50.